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Tpc proof of LEMMAL.S:
LO1:  Arbitrary >
LO2: A2>

L03: Al>
L04: MPr>L03>L02 >
L05: Al>
L06:  MP > L05 > L04 >

A TgX definitions

[Tpc = “T_{PC}”]

x=y Sy
\Rightarrow #2.”]

[A1 ' “A17)
[A2 € “A27]
[A3 = “A37
[MP = “MP”]

[LEMMA1.8 = “LEMMA 1.8”]

Theory Tpc]

Tpc pl “propos1t10na1 theory”|
x =y = “ imply "]
X=y=-xVy|

T=T]

T=F]"

F=TJ]

F= F]

Tpc rule AL:VB:VC: B = C = B]

Tpc rule A2:VB:VC:VD: (B=C = D) =
Tpc rule A3:VB:VC: (-C = —-B) =
Tpc rule MP:VB:VC: B+ B = C (]

LEMMA1.8 2 “mendelson lemma one eight”]
Tpc lemma LEMMA1.8:VB: B = B

propositional calculus =" “propositional calculus”]
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B=B)=B=258
B=(B=DB)=2B
(B=B=8B)=B=258
B=B=28
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(B=C)=B= D]
(-C = B) = (]
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